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Find one fifth of:

@ Dionne has £20. She
spends one quarter of
her money in one shop
and one fifth in another.
a) How much does
she spend in each
shop?

b) How much does
she have left?

@ A doctor sees 24
people at a surgery.
Half are women. One
third are men. How
many of the doctors’
patients are children?
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@ There are 36 passengers

on a bus. Four ninths
are upstairs. How many
passengers are:

a) upstairs
b) downstairs?

@ There are 30 children
at a party. Two fifths
drink cola. One third

drink orange. How many
children drink:

a) cola
b) orange
c) other drinks?
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@ There are 48 children
in Year 4. Three
eighths of the children
walk to school. One
third come by car. The
rest cycle. How many
cycle to school?

@ Six sevenths of the
shops in the High
Street are open. Nine
shops are closed. How
many shops are there
in the High Street?



